p3

\T

C
.23 m?
WASCHE
32.56 m?
90 Ros[C=] UNzlngErlr?z 6.25 m? ASTEKUCHE BALKON
| 19.48 5.83 m?
T B0R $UKEF + 3,08 >
C% 1.53 m? @ 13.50 m2 D D
N
>
Z | LEID O .
= 4.68 m? o GAST 14
= SAAL o _
() 106.25 m?
FLUR o
! S - 6 1464 m
LAGER - ) 15.75 m?
37.89 OKEE + 3,40 pasT Lo Lo c
| 6.04 m? 0205 ‘
10 % - TS0RD FLUR
! 1/ 30RO 5’86 me
FLUR 8.08 m2
. 0.33m ‘
+
SUKEE £ 3,40 ) e

6.48 m?
‘ 24.29
9.84\)2 @
27.64 M

DU
3.02 m?
ABSTR.
ZIM. 3
7IM. 4 17.28 m?
| J

$OKEE + 4 )5 319 m” =
T/30R 17.45 m?
2 . FLUR GAST7
15,02 m ﬁ 2154 m?
| [ )
BURO =
o3 47.36 m? J 17.39 m? @ GAST8 0
21.18 m?
;Z> | @ = GAST9
= oo 34.01 m? W®
= 1991 m2 @Q’ ZIM. 2 GAST 10
2 ZIM. 1 © 2 19.40 m?
18,51 M2 <& 19.63m qQ
S -
19.60
1156 bg
11.25
H—

GRUNDRISS 1.0BERGESCHOSS



	1.OG_102

